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QUESTION 1

Which of the following is NOT an example of Integration Strategy?
A. Big Bang

B. Design Based

C. Top-Down

D. Bottom-Up

Correct Answer: B

QUESTION 2

"Roles and responsibilities are clear and accepted" at what stage in Tuckman\\'s Model?
A. Forming

B. Storming

C. Norming

D. Performing

Correct Answer: C

QUESTION 3

The following are the attributes of the QFD approach, EXCEPT:
A. Traceability of the requirement

B. Determining the configuration of the product releases

C. Quantitative approach

D. Subjective evaluation processes

Correct Answer: D

QUESTION 4
The Use Case will describe how the actor and the system interact.
A. Exception

B. Essential
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C. System

D. Business

Correct Answer: C

QUESTION 5

Which of the following is NOT true?

A. Use case development results in a series of related tests call scenarios

B. Failure scenarios are unsuccessful conclusions that result in the actor abandoning the goal

C. All the scenarios for a single Use Case must meet all of the interactions related to different goal or subgoal
D. If there is only one path, with no opportunities for decisions, changes or errors, there will be no scenarios

Correct Answer: C
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